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Ex. 2

1) IP/Italia fails) = IP(3 failures) + 1P14 faierned
= 4pb(1 - p) + p4

2) P(America fails) = PP(2 failures) = ph

3) 4p3(1 - p) + p4(p =
= > 4p(1 - p) + p = ( =)

=> <P - 4pt +p - 1 =3 3pt- 4p + 13

=>pCE or p > 1 .

Since p
is a probability pe(it).



EA = GeB , 4R3 B = 35B , 3R4

1) IP (1r
,
11 from Al=2

2) p(12 , 13 fxmB) = (4)( ?) . 2 :

=
8. 7

3) E = (1R , 153 A =2 van A is chosent

IPIAIE)=TELA4IP(C)

=

= =

=2u + 225

420

=

Es :

q=

Ex. 4

1) IP (all N people born on different days) =

if N > 7

= if N = 2 , 3 , 4 , S , 6



iP (at least one match) = 1 - E
Note that

#

=
So for N = 4 = > IP(at least one match) = 1-0. 352

for N = 3 = IP(at last one match) = 1-0.61

So N = 4 .

↑

2) Define Aij = & i and I are born on the same

day?

for it ja

IP) at least one match) = PP/AizVAizUAzz) =

= IP(A12) + P(Aiz) + IP(Azz) - PlAiz1Ais) - PlARvA23) +

- IP(AnzMAzu) + P)AnAnzeAzz)



Note that far ijik with itj , itk , jak

PP(Aij) = =
365

IP(Aijn Ajk)=
/

IP(3 people bown on the
same day C= P(AijmAjknAik)

So

IP(At least one match) = g . 3 - 2 .

55 =

= 3652
We got in class :

IP(At heart one match) =1-
=692

- 364- 363
=

(365)2

13213
=

s


